145 modelc_1 (TMPhynQ-
Toxyx LWh3BANKEPX19Jfj61bwkG3)

October 27, 2020

Let v1_modelc_1 : t=-0 be given. Let m2_finseq_1 : t=>1t=>0 be given. Let
k5_numbers : ¢ be given. Let vd_modelc_1 : 1=0 be given. Let k8_modelc_1 :
t=>t= be given. Let k15_modelc_1 : t=>¢ be given. Let k16_modelc_1 : 1= be
given. Let v7_modelc_1 : 1=>0 be given. Let k1l_modelc_1 : 1=>1=>1 be given.
Assume the following.

VX0.((vlomodelc 1l X0)A(m2_finseq -1 X0 k5 _numbers))=(
((vd-modelc_1 X0)V(v7_modelc_1 X0))=(VX1.((vl-modelc_1
X1D)A(m2_finseq-1 X1 k5_numbers))=-(((vd-modelc-1 X0)=((X1 = k16-modelc_1
X0)=(3X2.((vl-modelcl X2)A(m2_finseq-1 X2 k5_numbers))A
(k8_-modelc1 X2 X1 = X0))))A((—vd-modelc-1 X0)=((X1 = k16_modelc_1
X0)=(3X2.((vlomodelc.l X2)A(m2_finseq-1 X2 k5_numbers))A
(k11-modelc1 X2 X1 = X0)))))))

1)

Assume the following.

VXO0.((vl-modelc-1 X0)A(m2_finseq-1 X0 k5_numbers))=(
((vd-modelc-1 X0)V(v7_modelc-1 X0))=(VX1.((vl-modelc-1
X1D)A(m2_finseq-1 X1 k5_numbers))=(((vd-modelc-1 X0)=((X1 = k15_-modelc-1
X0)=(3X2.((vlomodelcl X2)A(m2_finseq-1 X2 k5_numbers))A
(k8_modelc1 X1 X2 = X0))))A((—vd-modelc1 X0)=((X1 = k15_modelc_1
X0)=(3X2.((vlomodelecl X2)A(m2_finseq-1 X2 k5_numbers))A
(k11l-modelc1 X1 X2 = X0)))))))

2)

Assume the following.

VX0.((vl-modelc.l X0)A(m2_finseq-1 X0 k5_numbers))=(
(vd-modelc-1 X0)<(3X1.((vl-modelec.l X1)A(m2_finseq-1 (3)
X1 k5_numbers))A(AX2.((vl_modelc.1 X2)A(m2_finseq_1

X2 k5_numbers))A(X0 = k8_modelc.1 X1 X2))))

Theorem 1

VX0.((vl-modelec.1 X0)A(m2_finseq-1 X0 k5_numbers))=(
(vd_modelc_1 X0)=(X0 = k8_modelc_1 (k15-modelc_1 X0) (k16_modelc-1
X0)))



